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Part A
- Answer all questions
. When x73 = —l—the value of xis:
‘ 27
1
a) 3 b) -3 c) 5

4 (logx)2 =

a) logx+logx b) logxxlogx ¢) log(x + x)

. Thesumof 1+2+3+..nis

; n?+n n(n-1) "’ n(n* -1)
iE e A Al

. When the demand the supply functions are respecfively —10+ pand 50-9p
the equilibrium price is: , :
a) 6 b) 2 S | 1

-1 -3
. The determinant of matrix A = [ 5 G]iS:

Turn over



7. The slope of the function 3y = -2xis:

a) -2 b) -2/3 c) 1/3
2
g it 2=t
x—>3 x-3
a) 9 b) sl 9) 6
9 d? log x . -
- 5
1 1 1
a) -— b) -— c) —
X x2 x2
10. The maxinium value of the function y =x - x% occurs when x is:
1 1
- b - c 2
a) > ) 3 )

2
3 o 2
11. Given z = xy the second order cross derivative, -5x——15:

a) ¥y b) Ko c) 1
12. When the growth function is givenby 4= P[l + r]" , the growth rate, r is given by:
1/n 1/n
A A l/n
a —-1 b — -1 ¢ A-P
) [ - ] ) [ P] ) fa=r)
(12x % — 3 Weightage)
Part B (Short Answer type Questions)
Answer all questions

13. Find the value of e ‘
14. Find the roots of the equation Axt— 23—5 =0-

15. Given A= {a, b, ¢, d, e} and B = {1, 2} find (AL B)u (AnB).
16. Distinguish between equal sets and equivalent sets.
, paE e |

17. Evaluate the determinant of A=| 3 15  220| using the property of determinar
4 20 180
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4] | s

BB i vihen A= [?

19.Given A = [ 23 ¢ ]and B= [—02 —23:] find A+B.

21. Given the consumption functionC = 2000+0.75Y , find the saving function, S when
Y=C+S. : (9 x 1 = 9 weightage)

Part C (Short Essay/Paragraph type Questions)
: Answer any five questions out of seven.

=0 .
53— continuous at x=3 ? Why?

x“ -9

. Is the function f(x) =

3 2=
. Find 2~
dxz

_Find the extreme values of y=x+ s -
2 >

_Given y = x> —2x +1for what values of x the function is concave from below? ‘

Find the rate of interest if a sum grows to 1000 in 2 years if the initial amount is 500.

Solve (x2 ~1)(x-3)=0 '

Find the slope of the curve y=loé(l—x)atx=2 :

' (52 =10 Weightage)
‘Part D Essay Qu&stions

Answer any two questions out of three

Solve the equation using Cramer’s rule
x+2y+3z=14
x+2y+3z=14
x+2y+3z=14

(2x 4 = 8 Weightage)



